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Which of these designs are tessellations? Justify your answer.
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Which of the polygons can be used to create a tessellation?
Justify your answer by checking if copies of the polygon can surround a point.
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iscuss the ldeas

1. A shope tessellates when copies of it can cover a plane

surface without overlaps or gaps. The sum of the angles
where verfices meet is 360°,

2. | con tell that o shope does not tessellate when | see overlops
or gops in the design.

4. The sum of the angles in a friangle is 1807, so combinafions
of angles in o triangle will add to 360°,
5. The sum of the angles in a quadrilateral is 360°.
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8. &) Which of theie ety are
iessillatiora® Jestlfy viour ardwer,

0
___[: —1_ )i} This design is o fessellation because the shape covers

the plane with no overlaps or gaps.

— 1
i ii} This design is not a tessellation because the regular
..r"‘-ll_ P pentagon does not cover the plane with no overlaps or
illl_.l:..-u. ﬁ gops. There are gaps that are parallelograms.

i) This-deﬂgn s a fessellation because the parallelogram
covers the plane with no averlaps or gaps.

eV This design is not a fessellation because the regular
Lo 12-sided polygon does not cover the plane with no

" .
overlaps or gaps. There are gaps that are friangles.

|
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e
¢) No, there are gaps that are parallelograms.
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d) Mo, there are gaps that are friangles.

90

j S

f} No, there are gaps that are irregular hexagons,

I

Regular Triangles, Squares and Hexagons will tesselate.

Regular Pentagons, Decagons and Dodecagons (12 sides)
will not tesselate, there will be gaps.
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11. a) 45% + 45°% + 90° + 45° + 45° + 90° = 360°

b} 120° + 60° + 120° + &0° = 360°

¢} Although the triangles can be arranged fo surround o
point so that the sum of the angles is 360°, there are
gaps that cannot be filled.

December 16, 2019
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LR
d) 60° + 607 + 60° + 60° + 60° + 60° = 3607;
120° + 120° + 120° = 360°
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e} The outside ungle is 150°. No combination of ﬂngles
in the shape has a sum of 1507,
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fl | put the 230°, 40°, and 30° ung|e5 ‘rc:ge'rher. | then
needed two 30° angles to fill the gap. When | tried to

insert these 2 ﬂngles, the 5hc:||::|es did not fit. There were
gaps and overlaps.

December 16, 2019
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12. a) Answers may vary, Far exﬂmple:
The pelygons in parts e and | combine to make o
composite shape that tessellates, The design has no
gops or overlops and the sum of the angles ot a point
is 3607 120° + 120° + 90° + 30° = 3460°

Two polygons in part b, and 2 pelygons in part d
combine o meke w vomprsitehanachmbdresslntnes,
120° + &0° + 120° + &0° = 34607

Two polygens in part a and the polygon in part d
combine to make a cc:rnpc:site 5|'mpe that tessellates:

P07 + 607 + 120" + 45% + 457 = 360°

b) Answers may vary. Students should be able to find at
least 4 different composite shapes that tessellate; one
being the two righl triangles iuined ic:ge'rher to make
a square. Students know that a square tessellates.
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14. The composite shape is made from a regular octagon
and a square. | know the shape tessellates because the
sum of the angles at any point is 360°:

Q0% + 135 + 135° = 360°

[each angle in a regular octagon is 1357).
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|dentify the transformation in this tessellation.

Isita
. d Ol
retleCtioTTof
rotation?
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|dentify the transformations in this tessellation.
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How is the shaded triangle related to each tessellation?

(Reflections, rotations, or translations)
Multiple choice:

a) Translation & Reflections
@ Translation & rotation

c) rotation & Reflection

conservation of area: under a transformation, the area of a
shape

does not change.
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|dentify the transformations in this tessellation.

use words or phrases as

l, %0 150 "translations, reflection,
: ' W ey rotation, vertical line,
? ' oCy o horizontal line, #units up/
. . . down/left or right,
X et clockwise or
counterclockwise.

How is the shaded shape related to each tessellation?
(Reflections, rotations, or translations)

Xto A Trens\otion ’?\'Cy\'\ 4 uns

w105 Rodgle % 900 Clockwise abouy eaint §.

X to C ?*_.f lecdion a.CrosSS verricd Micror

C \{d\m \‘.nq,)
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pg. 475 # 1,3-6

Look at pages 472 -475
For more examples if you are struggling

Wednesdsy |
Test+uesday Dec.§ on Unit 8

Read page 482
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